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12x - 5x = 24 + 3x

% = 34 y3v
=3y -3\
4x = 4
q 4
A=
3)
X
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==-10.
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Write and solve an equation to represent the situation.

One health club charges a $50
sign up fee and $65 per
month. Another club charges a
$90 sign up fee and $45 per
month. For what number of

months is the costof the clubs
equal? M=months

O+b3m = Q0+ YSm
\i—j“"\gm\q —L(;‘(Sml

S0+ 20 =90

6)

2(x + 5) = 18

1% =10 = (¥
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7) 8)

-2=Yx+ 10
(3 +,__,_ - 10} (e -10 -[0
2x +ax = LO :1\‘—\3‘——}& T
Lh( -,laO _
Cr -4g = X
X - 15

9) 10)

Write and solve an equation to represent the situation.
4(x-1/2)=x+ 10 + 3x
Pristine Printing will print business
cards for $0.10 each plus a set up
q}( -* = Yx +10 charge of $15. The Printing Place
- "h‘ -Ux offers business cards for $0.15 each
with a set up charge of $10.
= ID What number of business cards cost
the same from either printzr?
b)

| ¥ C= business car
\&fD SD_]_L‘_’ﬁ(jV\ [ TJoc +15 = IS¢ + 10]
' =it & -0 C

= ¥
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11) 12) o5 w05

lh+5-8h=3h-6

~Th +9 = 2h-b
+h Th
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13) 14)

x-10 =-15
S(x+2)-x=4+2(x + 1) + 10 +10
BX Hib=~lx =4 +2% +2

Ix tle T Ax F L L'—S_T(

-1x o
Br +lle = L
-lle 1L
Hx ~-10
5 5
.9x = 63
3 - 2x-6=11
Yo T
= =1
ax =11
2 2
1 or 8.5
17) 18)
r=x-2 36 + 6x = 10x
X s ~x  -lL¥
9~ x 3l07_t_{f
x=9 PR

X =



19) 20)

Solve for x. 10 x:zlvse x£ o_rza; 2 = 20
-Z;3y Y ="%‘t e %z ‘-jba_l(; +adjﬂz
2% =%y txu > § = 20 t342
'fj:%ghj E 35*11‘\1 Mg) .;Eﬁ?

x B 2019y
22Dt [x= 5

Solve for x. Solve for y:

’a:)(c +by =c¢ e

23) 24)
Solve for y: Solve for y:
Xy +2y=w 3y +x=-y+4
= Y
(X ‘h;) -~ _V-_J-. Y ) t
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25)

A building is 1450 ft tall.
How many meters tall is the
building?

Use Im = 3.28 ft

1450 £+ Ll

4(o-5) = $(bt3)
Yo - 3> =~ B +\S

-39 = \b TIS
—,Y "‘?

29)

You deposited $125 in a savings account that
earns a simple interest rate of 1.75% per year.
You earned a total of $8.75 in interest.

For how long was your money in the account?

L Pet
875 = 125 - o.ons T

315 =3l \%’75“6
BT 21315

= Ayeers |

26)

An athlete ran a sprint
of 100 ft in 3.1 seconds.
At what speed was the
athlete running in miles
per hour?

0064 | L6 l0sclowin,
2\ 'S}-Z S'J'D% T \@D

28]

30)
125% of what number is 17.5?

.25 X = L‘)_?
.S 1.2%

X= 14




31) 32

i ?
What percent of 56 is 42: In one year, the toll for

. =. passenger cars to use a
)_{__5(?_ _Ll_% tunnel rose from $3 to $3.50.
5(p 5(0 What is the percent increase?

X= 015

33)

You think that the distance
between your house and a
friend's house is 5.5 miles. The
actual distance is 4.75 miles.
What is the percent error in your
estimation?

N
YA = 0. \6’IKC|

[x15.79%




